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(English)
21. Fillin the blank with a suitable word.
Mallika gavé the headmaster a of flowers.
(1) banquet S (2) bundle
(3) pack ' (4) box
22. Wyite the noun form of the word kind by choosing the right suffix.
1) <ful (@) -mess
3) -ly - (4) -est
23. He tasted the water and found it delicious.
(Pick out the adjective from the sentence given) |
(1) He . () Tasted
- (3) Found (4) Delicious
24.  Pick out the opposite of the word ‘blunt’.
(1) smooth - (2) * sharp
(3) rough (4) soft
25. Choose the meaning ofthe underlined word.

Question Paper

Booklet Code A

- The soup is delicious.

(1) hot | (2) bitter
(3) tasty - (4) sweet

VED ot
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Pick out the noun form of the word ¢ great’. . | o :

- (1) greater - o (2) greatest
- (3) - grateful - | o (4) greatness

217.

Fill in the blanks with the tight word.
Who stole the diamond is still-a

(1). . history - "~ (2) doubt .

(3) - fact © (4) mystery
28. Pickout the word which means the same as ‘expensive’. -

(1) ‘cheap - . (@) valuable

(3) _precio.us, ' | ' . -(4) costly
29. Weshould - - alittle money.evéry morith.

(Fill in the blanks with the right phrase)

) set aside o (2) setup

(3) setdown | _.(4) set out

Q. No. 30 to 33 : Read the passage and answer the questions.

‘The polar bear is a large white bear in the Arctic regibn. It is the World’s largest land

predator. Polar bears have adaptations to survive in freezing temperatures and icy waters. They
have a thick layer of fat that keeps them warm and aids in buoyancy while swimming. Their white
fur helps camouflage them in the snowy environment. The paws of a polar bear are specially

30.

-designed with large, sharp claws that allow then to walk on slippery ice. They feed on seals.

The polar bear is found in
(1) Antarctic region (2) Arcticregion
(3) ‘Himalayas : (4) Saharadesert

V24-77) . | S-A - 7% Class
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3 1 ‘How-do polar bears survive in the freezing temperatures?
(1) They have thick layer 6f hair on their bodies.
(2) They have a thick layer of fat. |
" (3) They live in caves.

(4) They migrate to warmer regions

32 The paws of the polar bears are specially designed to
(1) climb mountains | . (2) climb trees

(3) toswim - : (4) towalkon slij)pery ice

33. .What do the polar bears feed on?
(1) honey and fruits | (2) small animals

(3) seals - : - o (4) birds

-34.  Ontheblind day children bandage their
(1) mouths - . (2) eyes

(3) hands . (4) legs
35. Isawacobra ___out of a clump of cactus.

(Fill the blank with the word that describes movement)
(1) delving | (2) diving
(3) swimming | (4) gliding

V24-77 | | 9-A 7% Class



- 36.

Fill in the _blank with the correct letters.

Question Paper[ A
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(3) difficult situation

*)

~ The crow and the mynac-1l-d-d.
(1) 0, ia e (2) ia 0, ¢
(3) o,ei (4)- i,e, 0
37. The person who reports news for newspaﬁer, radioor T.V.is a
(D Enginéer . | (2) Journalist
'(3) Doctor (4) Politician
3 8. Fillin the blank with the correct adjective.
Thismade Taro - than ever.
1) sad (2) saddest
(3) sadder (4) none
39. Pick out the phrase that means ‘homesick’. ,
(1) terrible | @) . sick
(3) relieved '(4) wanting to be home
40. Fill in the blank with the suitable phrase.
The patient needs to be properly ' .
(1) treatment 2) . taken care of

accepted without protest

10-A
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(Mathematics)

(ids0)
41. 1kilogram = milligrams.
1 §e3‘@°53' = ' :b@ er"?ﬁnm
(1) 1000 : - (2) 10000
(3) 1000000 (4) 100
42, Smallest whole number is
- 9808 JToko
) 1 ) 0
3) 10 ' (4 -10
43. Which of the following is go_L the factor of 487
§od TIS® 06 48 Qoof), s°Gero¥o F?
(1) 12 (2) 8
(3) 16 ’ (4) 15
44. Which of the following natural number is neither a priine nor a composite number?

(1) 0 o @
3 2 @)

808 TS D Bime Bopg BES Bowy T K860 oL Sopg S

1
4
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45,

~ .

LCM of 48, 16 and 12 is

48, 16 50805 12 © L.

ool -

96

@) 48 . | @) 76

Question Pé‘lpe'r A '
‘Booklet Code L

46,

Which of the foﬂowing is the prime factorisation of 84?

§od TAS* 2B 84 cﬁwéz, @@5;‘69919?9 0 @mﬁq? =

W 2x6x7 @
3 Tx12° R COF

2x2%x3x7
2x3x14

47.

Which of the following is a polygon?

1808 TIS* advHE D87

(O @
@ <> G

]
@.

48,

What is the aﬁgle name for half a revolution?
(1) Complete angle . )
(3) Rightangle @
@é@:’neao FBoof), 500 D8 D37

(D éo@g §'wo0 (@)

(3) wow Fwmo @)

Straight angle

Obtuse angle

H8Y §'eo

w¥ E'wo

V24-77 . 12-A
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49. (=5)+(-4) + (-6) - (—8_5. =
n 7 | : 2) 23
(3) -23- 4 -7

‘ 36
50. Slmplest form of — .

54
- 36
m By, B§5¢e 63%30
3 . 6
© 5 @
5 2 - w2
®) 3 | @ 5
51.. If the measures of three angles of a triangle are each 60° thenitisa | triangle.
(1) Rightangled ~ (2) Scalene
(3) Equilateral | 4) Isosceles
28 (@202208° P PEFR0 Dend 60° wond ©b @eﬁoeﬁo
(1) woxffe - _ _ (2)  DRSoerSo
(3) sSwrdv " (4) ddoagarso

52.  Which ofthe following is not always a parallelogram?

(1) Quadrilateral - = - (2) Square
(3) Rectangle ' | (4) Rhombus
o TS* & Qoajcéav af ddrodd z;Se“eod)a)eso 57507 |
(1) zﬁéodo?)eso (2) whddo
() BgwsEHo ' (4) oo

¥24-77 13-A . TClass



53, Biggest integer among the following. -
aésméé-f.gj'géoaasoé‘ 8O Y D82
=10, 0,100, 1,1, ~500

@ -0 . @0
3) 1 - | 4) -500

Question Paper l A
. Booklet Code -

- 5
54. Express 5 as a mixed numeral.
35 | oo

ol .

3 - o
(1) 8= A @) 3
.9 , | -
1 | s
4= 3=
3) 45 @ 3
55. Subtract 3.85 from 12.024.
12.024 $08 3.85 S SHI oo,
(1) 839 | (@) 8.174
(3) 15.874 | (4) 9.874
56. TFind the ratio of 30 minutes to 1.5 hours.
30 doaros, 1.5 Kobwd DB EdaSodn.
(1) 1:3 2) 1:2°
(3) 3:5 4) 2:1

v24-77 | | 14-A
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37. Which of the following is true? -
Bod TS 26 ée‘ﬁgo:? , _
(1) 16:24::20:30 (@) 21:6::35:15
3) 12:18::28:12 (4) 4:6::6:12

58. A table-top measures 2 m. by 1 m. 50 cm. What is its area in square metres? 2

af 2y GBHOFeo 25‘)3 x 1 0. 50 Do0.50. Poder ¥O8 &obd. od ST BEEY

&ES* Jod? '
(1) 300 () 250
3) 30 - S @3

59. Sanvikais Sameera’s younger sister. Sanvika is 4 years younger than Sameera. If you take
“the Sameera’s age as ‘x’ years, then the age of Sanvika is years.

DY BBeo TIE, TAE, D06 K08 4 Horwo DHB. HDE ScHBY X’ BoSHT

05508 TG Sosidy BodSdyoren.
(1) x+4 B (2) x-4
' » X
3 ’ —
(3) 4x 4 7
60. Perimeter of the given figure is . cm.
Qe0dS DHbo G0, WenPod 200.80. 4
_ & —_— . cm
(1) 24 _
’ 3¢cm 3cm
' | 1cm 1cm -
"3cm 3cm
(4). 36 Tom

va4-77y - 15-A | _ 7t Clags
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61. Which vitamin gets easily destroyed by heat during qéoking? _
(1) Vitamin-A } (2) Vitamin-B _
(3) Viamin-C (4). Vitamin-D S .

| & B80BbEyE 38 SoF D IS Hogor $T08?

@ sems<a (@) 26§ -0
(3) DLMS -d o ) LS -6
62 . converts iﬁto. ’ .j is an example for evaporation. .
(1) Ice, Water | | _"(2) Water, Ice
(3) 'Wa.ter,'Water vapour - (4) Water vapout, Water
___%on e 000 T8 of aminte
1) So, b o b, Booth
3) 2%, b w20 | @) s w25, 5 _‘

63.. Which chemical is used for the identification of starch in the food?
(1) Copper Sulphate (2) TinctureIodine
| (3) Caustic Soda 4 Benedict’s solution
08 effdos® wd) ﬁaoééa‘gb (@;@)Kn fbgod:éags fD BAcHB808 GADBFATE?
o(1) a6 :660)5 | (2) B35 oBrES

(3) =§ @ _ (4) BIS&E) (&S00

V2477 - 16-A | 7% Class



64.
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-Match the following.
A : B
i) Air, glass - a)  Soluble in water
| ii)  Sugar, Salt | . b) Insolublein water
iii) Sand, Stone S - ©) _T‘ransparent
80D T BEIEHs, |
A o B
i) . mo, e - a)  H3S* E&ihdo
i) dodws, &y | b) b8 S8hD
iii) =20¥, oron - | c) FESHEo
(1) (i)-c, (ii)-b, (iii)-a (2) (i)-c, (ii)-a, -(iii)-b ‘
-(3) - ()-a, (ii)-b, (iii)—c (4) (i)-a, (ii)-c, (iii)-b
65.- The green, small, leaflike structure of the flower )
(1) Pistil (2 Stamen
(3) Petal o (4) Sepal
DYoSV wHdHI, DY) v 5ol éo‘éeao -
(1) eogso ) B0
(3) w¥gE Hgo | (4) 588 do
66.

While observing the symbol ™ through a pin hole camera the image form like

P et o DS FE TS $880KYBIE T HEHowo o DE)hr%08.
o T @
3) - - 4) <«

V24:-77) | 17-A 7" Class
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69,

67. Identify the incorrect adaptatio_n character of birds.
(1) Bones become hollow and light.
(2) Fire limbs become wihgs.
(3) Body is covered with a hard outer skeleton.
(4) Hindlimbs are modified for walking and perchmg
- DPe vdbrod ofoo 57 G‘c"\)i Kogousod.
(1) dS0gen oo b go&m 53“6 ﬁoéa*d:g.
(2) S0l ud S‘%e) BE o0 S0 Grodron.
(3) %680 ﬁéﬁﬁ“ @) g ea’éb;’aoaadoé‘ Eoed wooob.
(4) 358 =g sy IES@R8, ?&&oa Qeaaerds Heorr a’mdoQ Bob Godrom.
68. Identify the good conductor from the given.
" (1) Thermocol -‘ ' - (2) Human body
(3) Plastic plpe @) Wood
§od e’ Inoi’) 3)653&5 a*méo:\’n KoBotSod | -
(1) &5 (2). S8 4680
(3) 3RS Yo | ' 4) 1%,
The human skeleton is composed of around bones at Birth.
HESS3c S5 OFBondo HSrh . dinfes’ ddEob.
(1) 200 - ‘ (2) 206 '
3) 300 | 4) 305
70. Magnets are not used in this object.
(1) Compass (2) Geyser-
(3) Loudspeakers (4) Eleetric bell
& 5509 S0tk BRI 0B0s) BBRPACTL.
(1) 8&md - @) hab
(3) &6 58 (4) Deogs Kok
18-A 7" Class
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71. The book “Gait of Animals” is writteh by .
(2) Galileo
(4) Aristotle

(1)
3)

Darwin

Lamark

FzodhPHod® SoTromren” e HIgod THHs

(1
()

G"B‘SS
eS8,

(2) K&d&>

4) woxsS

" 72. What type of motion you find in the given picture?

1
(2)

-(3)

4

APS VP AP @ IFFI Fososs HYAH?

(1)

Rotational motion
Rectilinear motion

Circular motion

Periodic motion

©¥Soe Hedo

- (2) Bho%H Peoko

®3)
“

Jersts doso
Sod Sodo

73. Joint occur in our neck is

(1) Balland Socket joint

(3)

Hinge joint

S0 BosS* &%) S

o)
3)

208 AF) &en
Sod8es 20k fen

- @)

(4)

)
4)

Pivotal joint

‘Fixed joint

SPoiEdy Een

5o 8en

19-A
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74, ~_is used to measure a curved line length accurafely;
(1) String "(2) Tape
L (3) Scale _ _ - (4) Handspan _
f S FEHH pYdomr FOSTIE _ S BETIRG.
(1) oo @ 8%
(3) e (4) Bews
75. Whichpart of cactus plant perform photosynthesis? -
(1) Root | " (2) Leaf
(3) Stem (4) Flower
5E0 S D erifo .§I6eaa:6§ éoﬁrﬁ@éﬁo 23509 %0d?
NOREES | - 2) s
(3) sodo (4) Jxyo
76. Match the following.
| A B
1) 'Handpicking a) - Separate stones from sand
ii)  Threshing b) Sepafate stones from grains
i) Winnowing ¢)  Separate grains from stalks
iv) Sieving d) Separate husk from grains
\_éc;& TAD BEDGWod. '
A B
) Bes* I8Fcsndy 2) @%f $008 o) JdBoiow
i) S0y b)  grigo So0d Ty SdoTBasots
i) droyEwigso ¢)  hmpe S0 Trgoso BBakol
V) =8d dydo d) dgo &ood rend JchBoswd
(1) (Q)-d, (ii)-b, (iii)-c, (iv)-a @) ()¢, (i)-a, (ii)-b, (v)-d-
() ()b, (ii)-d, (iii)-c, (iv)-a @)

()b, (ii)-c, Gii)-d, (iv)-a

- T™Class
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77. Find out whether the given statements are True (or) False.

(A) Metals show lustre on their fresh cut surfaces.

(B) . Metals are used as insulators.

2
3)

(A)istrue @) ®)istrue
(A) and (B) are true . (4) (A)and(B)are false

2S@AS TEge0 wdy s &y Botod.

(A) e FEm Eahnds 5 3¢ 5% $g8d drbderom.

(B) &'Foln ddogs aodémn‘ GHRFOID.

(). A)ssse ) (B)%ps6
(3) (A) o050 (B) $389 ) (A) 5600 (B) $65°93
78. Which gas is more in the air?
(1) Oxygen ' (2) Nitrogen
(3): Carbon dioxide (4 Helium
TOS S Bngos® &%) ooy D87
(1) &9@@&5 Q) =S
() =S B egys .- 4) Socho
79, helps to get rid of undigested food from our body.
(1) Carbohydrates N ‘(2) Proteins
G¢) ocils (4 Roughage
558 4680 008 Lo BHGoH SoROHLS BHHEE08,
(1) Bod ST ' 2) @8
(3) 3 _ | 4) b dSogen

Va7l g 7% Class
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80. Wh1ch of the following statement is true.

(M

In an electric circuit the direction of cor_rect is taken to be from negatlve terminal to

. positive términal of the electric cell.

@)
()

@)
Bob

O

(2)
()

(4)

Electric bulb g'lows'eveﬁ it was fused corhpletely.

Materrials; which allow electric current-to p_aés through them are called insulators.
Switchisa simple device, that is used either to breék or to complete electric circuit. "
TS DB B80S rEgo | o -

28 Ddogs a’)e:no:boes* Qekogs o?mgb a% 3)65355 2o ci’méz, 20089 N0 So0d 58
Q.‘éo 3@& S0 dnE0d. :

o_gj‘grv RPN Dcﬁages ey IVHEH.

D Srrges ESom s BITroSBAHERS ©ohEdTEr FEI DeogE
aaods'oo 290880 ' '

Qg5 @3& Doy 50050»&)4 8858 S Sar B8 &IBrNoB w8 e
50850,

(V2477
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(Social Studies)
(o8 #|Ho)

81. Sheis relgardgd as the “Mother of Indian feminism”. |
(1) Sarojini Bai (2) Savitribai Phule
(3) Jhansi Laxmi bai ) (4) DurgabaiDeshmlikh
&R0 ‘;e;'déoﬁo b Sreslr” od g,
(1) 3820 wrow : .(2) FI|BT00 S
(3) Sorly ofgeron @) Sooaran SF50f

82. EmperorAshokabeIongedto this kingdom. -
(1) Gupta - (2) Mauryan
(3) Satavahanas | (4) Tkshvakus
o5 SESH éﬂ_mw‘s’ﬁ)g BodBT. |
(1) HoHeo | (2) STSHgen

(B) TETEse @) aggos

- 83. Asteroids are found between these two planets.

(1) Earth-Mercury (2) Earth - Mars

(3) Ve;1u§~Mercury | (4) Mars - Jupiter
Grdseros & Dot e S0y L0, -

(1) &rdo - wodods . 2) &F - somssed
(3) Dotk - ook (A womsHdd - wyrdyd

V24-77 ; 23-A - - 7" Class
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84. “Democracy is a government of the people by the people for the people : Who said -

‘these words?
(1) AbmbamLincoln - (2) MahaunaGandhi

| G Nehru | . @) NelsonMandela |
'@m: cﬂw§2}, @ase.a 3é @aao §d0- o:R)B @eﬁaéog;"b @wavsm&o ol aﬁ"béénp"&)
(1) @@)mo D0ES : ‘ 2) mﬁé‘&moﬁ

G) 3w 7 . (4). 39§ ode

85. Cities narned Haraﬁpé, Mohenjodaro, LOthal belong to fhi_s civilization.
1y Mesopbtamié civilization | |

(2) Egyptcivilization

: (3)' indus valley civilization |

(4) China cmhzatloﬁ |
_mdé'g, vy o ot eS‘as"eS' @93 At ﬁe: éﬁmm & m‘iaéé& caoaao&oé):é:)
(1 ééﬁ":{boﬁr Bdetal-t

Q) =2y i8S

(3) Dogr KOS

.-(4) éa' oL

'86. .The word globe is derived from-this word globus

(1) Greek ' (2) Spanish
(3) English - (4) Latin
Ff o3 Hddw ﬁ‘aaco o3 & Do Kod wd)Dodod

(1) 6% @) ay0&
(3) =ohR (4) AR

V24-77 | 24-A a | 7% Class
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87.  Areligion associated with the Gandhara sculptors.
(1) Buddha (2) Jaina
(3) Hindu | " (4) Parsi
morrd BOVEES” @esoea;c‘.io e Dogo |
W &g - @ B
(3) Srod ' 4) &8

88. Andhra Pradésh does not share a border with this State.
M Tel.angana N - (2) Kamataka
(3) MadhyaPradesh ' (4) Chhattisgarh
. BOBRART € THod” BBy HowHE B,
(1) Beormres o @) sonws

(3) S5HaE5 (4) $ES%E

89. Theword ‘Sikh’ means |
(1) Teacher | _ (2) Student
{3) Small - : | (4) Respect
By, @3 H08 ©fsn |
(1) &35 L 2) =g

(3) 2% : (4) &S50
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90. _ﬁArticle of the constitution of India which deals with local Governance. |
‘[ (1) Article - 38 _ - (2) Article - 39
(3) . Atticle- 40 (4) Asticle - 41
S 6‘366&6;‘6}63 Srdod erdd Targolios’ egss |
(1) wges-38 - L (2) egEs-39 |
(3) 9956;40 | 4) wogs-41 " | - ’

O

91. Identify the-wrongly matched pair. .
(1) Kondapalli-Krishna
(2) KotappaKonda- Guntur
(3) Nallamala - Kurnool
(45 Velikondalu - Chittoor
Sy 283808 AN KHJodod.
(1) Sotsd - &1
(2) E‘éoégéoé - 208570 .
‘(3) :625;:@-- Eomen - | -‘ ST

(4) 30Foded - DR | | ’

92. Among the panchavratas of Jainism mentioned below are those prescribed by Mahavira.

(1) Brahmacharya (2) Ahimsa

(3) Satya . (4) Aparigraha _
§ods "a&“z,;ﬁea&éé' FES* BISe 8 TodS 50:5@’)@106‘ ST % SrdodIB. K
(1) irsgo (2)  oirod

(3) d&8g0 . (4) odETo |
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93. Half of the earth that lies west of the Prime meridian is thus called
| (1) Northern Hemisphere

(2) Western Hemispheré

(3) Eastern Hemisphere

(4) Southern Hemisphere _

ErSre38 Bgroa A8 HRdoormr i) gy Boof), of ) € Do DO

(1) &dog fdo | | |

() Bysrg Ko
(3) &rdy wgitvo
4) ey o

94. 1Itis symbolized by the ‘Bull’ to the right of the wheel in the national emblem.

(1) Hardwork (2) Speed -

(3) Energy - ) - - (4) Respect
bosH Dimostio SER8 2BFHS &F) D’ 58 Sodssn
(1) & (@) 3o

(3) %8 | | o (4) w&ho

95.  Who said this? “All of us do not have equal talent. But all of us have an equal opportunity to
~ develop our talents”. '

(1) Dr.BR.Ambedkar (2) Mahatma Gandhi
(3) Dr.APJ.AbdulKalam (4) Dr.AnandibaiJoshi

“Bo88oe6é NGRS T Tl ﬁoééﬁ‘érﬁ%} 50 08 P8I0 @i)a’)ag BIEST 8 wolsdSow
JDSrS wSsT) 00 &ano” ©d TS, ‘

(1) @ D.06. w06 Q) SEreyTod
() @1 2B oS foro (4) o esSoburon &5
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96. The third nearest planet to the sun.

() Vemws S (2) Mercury
() Mas . (4 Eat
| Grioght Somds 8D G0 |
1) B @ wted
' (35 @ow&&d&a o T (4) 2;53‘:1)'. a - o '

' . ' . - o . " . v
'97. These philosophical texts deal with soul and the mysteries of nature. ‘

(1) Brahmanas - I (2) Upanishads -
(3) Aranyakas (&) Tipitakes
ud), BEB B0y, SrFge Hood BIHEY &°88 Liioes“oa; -
(1) eedygres @ éémé_o,m
(3) e_*a‘deags‘eﬁo o G BhEsen

- 98. The numbef of votes cast by aresident of e’ach ward in ﬁn .‘election toa Gram Panchayat.
rSodomronds 208 JQFos” B8 53"636* Q$Dow Hg8 3’%0 84 Dowg

1 3 | @ 1 |

3 2 - ) 4

99. Anew architectural style called “vesara’ was introduced by
(1) Satavahanas ~ (2) Cholas
(3) Chalukyas | (4) Pallavas
B8 0 SrdS THY IO ETEOD HoWaDo BwSIEH |
(1) zdadoo (2) SOen
(3 ) rebBogen - (4) ée’q);ﬁ)w
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100. The intermediate direction between the north and east is called
(1) North-East ‘ (2) South-East
(3) North-West (4) South-West
&880, drdng Hdgie B8y vee Do, |

(1) Sasgsmn (2) eho0sn
(3) aasoBgsm 4) P8

.000a0a .
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